
Lectures 2&3

Hilbert space

We Focus on the Hilbert space

H = Aloh

This Forms a superselection sector since it

is closed under time-evolution .
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Difference with classical gravity
It is important that we are not measuring only
the energy , which can alsole done in the classical

theory.

29. Birkhoff's theorem tells US that two spherically
symmetric wavepackets with different densities could

have the same [H7 and so be indistinguishable
classically
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We limitQ so that

SCE)
dim (Acoarsel 2

Then
,
for a generic state It)

,
we have

a It 10 [It) is separating w.r.t. Acoarse]
For some special states , this might fail. eg. If IEL
is an energy eigenstate

HIE) = EIE) t (H-E)(E) = 0

Next, let

WHkL(v= 0 , t=0)

ve an operator corresponding to a field in

the UrIR
,
as constructed using the HKLL

prescription.






